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This contribution proposes two new exceptions to StartMeasurementJob operation defined in draft 32.412. The high load exception is defined to avoid the possible problems in EM or NE if the requested measurement job is started.  Thus the exception is set in case there is a currently a load problem or starting the measurement job would cause a load problem (estimation). A high load in EM or NE may endanger the basic functionalities in EM or NE.

The return information shall be discussed and agreed.

	Exception Name
	Definition

	max_job_reached
	Condition: maxJobNotReached is false.
Returned Information: Name of this exception.  Status is set to ‘failure’.

Exit state: Entry state.

	InvalidMeasurementInfo
	Condition: (MeasurementInfoListIsValid) not verified

Returned information: output parameter status is set to ‘failure’
Exit state: Entry State

	InvalidSchedule
	Condition: validSchedule is false
Returned Information: Name of the exception; status is set to ‘failure’.

Exit state: Entry state.

	InvalidGgranularityPeriod
	Condition: validGranularityPeriod is false
Returned Information: Name of the exception; status is set to ‘failure’.

Exit state: Entry state.



	InvalidReportPeriod
	Condition: validReportingPeriod is false
Returned Information: Name of the exception; status is set to ‘failure’.

Exit state: Entry state.



	HighLoadInEM
	Condition: EM detects an high load in EM
Returned Information: Name of the exception; status is set to ‘failure’.

Exit state: Entry state.

	HighLoadInNE
	Condition: EM detects an high load in NE
Returned Information: Name of the exception; status is set to ‘failure’.

Exit state: Entry state.


